ITepeueHL OCHOBHBIX JIeTa/ied M v3/10B u3geaus I1

32/33/34

29
31

Wnxenep

CornacoBaHo:

3aM. HauasibHuKa OTO Knéukun A.B.

Wcnonnurens:
SIkoBenkoB 1.K.

-02

0

Jlucr 1
YTBepkjaro
Hauansauk OTO

Ko3nos I1.A.
«__» 20 .

xkoMmruiekt 3UIla




IlepeyeHb OCHOBHBIX JieTa/ieN U y3/10B usaenus I171-020 Jlvct 2
II HaumeHnoBanue K II HaumenoBanue K II HaumeHnosanue K
1 | CereBoit mHyp ¢ Buikon 3x0,75 mm? 1 29 | Juadparma 1 58 |IInacTuHa NpwXUMHas 1
2 | Tpy6ka 3aumrHas 1 30 |IoammmnHuk 608 1 59 | dnaHel) BHyTPeHHUN 1
3 |Tlonypyuka neBas 1 31 | fIxopb 1 60 | ®naner BHEIIHUN 1
4 | BuHT camope3 4x15 4 32 | Buatr M5x60 2 61 |IIlait6a S2,0 mm (D 22 x d 8,5) 2
5 | BunTt M4x29 2 33 |I'posep S 2 62 | BUHT C mecTUrpaHHoi ronoBkou S6 1
6 |Ipoep 4 2 ||| 34 |IlaiiGas 2 M8x16
7 |Illaii6a 4 2 35 | Mogummsnk 6001RS 1 63 |3aknm !
8 |[lnactvHa NprKUMHas 1 36 | Kosnbuo pesunoBoe 030-034-25 1 64 |Bunt camopes 4x17 1
9 | BuHT camopes 4x14 2 37 | Bunt crietyanbHbi M5x11 1 65 |Taiika crieypanbras 1
10 | dpoccens 2 38 | Poruar cTornopHbIit 1 66 | Bunt cnerpanbiii M8 1
67 | OcHoBaHue B c6ope
11 |Kongencarop 0,33 pF 275V 1 39 |IIpyxwuna 0,8x7,5x32 1 671 | ocHoBamme 1
12 | Beikmouarens FA2-6/1B 6A/250B 1 40 | Koxyx 3allUTHBIM 1 67.2 | KpOHILITEMH MTyOUHBI TIPOTTH/IA 1
13 | [Tonmypyuka rpaBas 1 41 |Ilarpy6ok (D 39 ; d 31) Mm 1 67.3 | kpOHIITENH yI/Ia Hak/IOHa 1
67.4 |3akienka 2
14 |Tatika M4 2 42 | Bunt M4x6 4 -
68 | BuHT crierianbHbI M6 1
15 | Bunt M5x8 2 43 |IIpyxxuHa 0,7x5x62 1 »
69 |Ilait6a S1,0 mm (D 12 x d 6) 1
16 |Kpeika Kopmyca 1 44 | OrpaHnuuTess (pe3vHa) 1
70 | Konmauok (M/acTHK) 1
17 | IITa#iba U30/AI[HOHHAS 2 45 | Bunt M5x20 1 "
71 |Taiika M6 1
18 8TKoZieprKaTesib 2 46 oBep 5 1
Hiérxoaep Iposep 72 | BuHT cienpanbHbIi M6 1
19 |IIpo6ka-3arnymka M18x1 2 47 | 1la#iba 5 1
73 | IIpyxuHa 0,9x8x15 1
20 |Miétka (7x11x17) 2 48 | TlopwmnHuk 626RS 1 -
74 | Taiika M5 1
21 |Kopmyc amekrpoaBuraress 1 49 | KosbLo cTonopHoe D11 1 -
75 | BuHT crienanbHbId M5 1
22 | Buatr M5x30 3 50 |Koneco 3ybuaroe Z=43 1
Kommnekt 3UTIa
23 |I'poBep 5 3 51 |IlInoHka cermeHTHas 4x5x12 1
76 | duck 185x24Tx20 1
24 | Iaiiba 5 3 52 | KoL cronopHoe @14 1 =
77 | Kirou mecturpanssii S6 1
25 |BunT M4x5 1 53 | Kpslka Kopryca pefyKropa 1 - - -
78 |JIuHetika c GOKOBOI Harpap/ISIOILeH 1
26 |I'poBep 4 1 54 |Bunt M5x11 3
79 | Merok-TibL1eCOOPHUK 1
27 |Illaiiba 4 1 55 | IMommumauk 6202-RZ 1
80 |XomyT 1
28 |Crarop B cbope 56 | HInuHjensb 1
28.1 | Komsuo korraxtHO® 2 57 | KoKyX NOJBM>KHBIN 3alUTHBIN 1
28.2 | Crarop 1 yX TIoA -




